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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 4 printed pages.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 25 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 4 gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 25 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

POLITICAL SCIENCE

jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku
Time allowed : 3 hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :
(i) All  questions are compulsory.

(ii) Marks for each question are indicated against it.

(iii) Question numbers 1 to 10 are of two marks each. The answers to these questions
should not exceed 50 words each.

(iv) Question numbers 11 to 20 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v) Question numbers 21 to 25 are of eight marks each. The answer to these questions
should not exceed 200 words each.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(i) lHkhlHkhlHkhlHkhlHkh iz'u vfuok;Z gSaA

(ii) izR;sd iz'u ds vad mlds lkeus fn;s gSaA

(iii) iz'u la[;k 11111 ls 1010101010 dk izR;sd iz'u nksnksnksnksnks vad dk gSA izR;sd iz'u dk mÙkj 5050505050 'kCnksa ls vf/kd ugha

gksuk pkfg,A

(iv) iz'u la[;k 1111111111 ls 2020202020 dk izR;sd iz'u pkjpkjpkjpkjpkj vad dk gSA izR;sd iz'u dk mÙkj 100100100100100 'kCnksa ls vfèkd

ugha gksuk pkfg,A

(v) iz'u la[;k 2121212121 ls 2525252525 dk izR;sd iz'u vkBvkBvkBvkBvkB vad dk gSA izR;sd iz'u dk mÙkj 200200200200200 'kCnksa ls vfèkd

ugha gksuk pkfg,A
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1. What is implied by positive and negative liberty ? 2

ldkjkRed o udkjkRed LorU=krk ls D;k vfHkizk; gS \

2. Explain political socialisation. 2

jktuhfrd lkekthdj.k dh O;k[;k dhft,A

3. Differentiate between Socialism and Communism. 2

lektokn o lkE;okn esa D;k varj crkb,A

4. What is the importance of Universal Adult Franchise in a democracy ? 2

iztkra=k esa lkoZHkkSfed o;Ld erkf/kdkj dk D;k egÙo gS \

5. What do you imply by the term ‘criminalisation of politics’ ? 2

^jktuhfr ds vijk/khdj.k* ls vki D;k le>rs gks \

6. Should   political   parties  in  India form  a  coalition  before  the  elections  or  after  the
elections ? 2

D;k Hkkjr esa jktuhfrd nyksa dks pqukoksa ls igys xBcU/ku djuk pkfg, vFkok pqukoksa ds mijkUr \

7. What is the significance of opinion polls ? 2

turk dh jk; tkuus ds fy, fd, x, er&laxzgksa dk D;k egÙo gS \

8. Write a short note on National Literacy Mission. 2

jk"Vªh; lk{kjrk fe'ku ij ,d laf{kIr fVIi.kh fyf[k,A

9. What do you understand by poverty line ? 2

xjhch js[kk ls vki D;k le>rs gSa \

10. Mention at least four of the seven countries that form the SAARC. 2

mu lkr lnL; ns'kksa esa ls de ls de pkj ns'kksa dk uke crkb, ftuls lkdZ (SAARC) cuk

gSA

11. What is the difference between Dharma and Religion ? What is the relevance of the
concept of Dharma in public life ? 2+2

/keZ o fjyhtu esa D;k vUrj gS \ lkoZtfud thou esa /keZ dh vo/kkj.kk dk D;k egÙo gS \

12. Define a welfare state. How far is it correct to call India a welfare state ? 2+2

dY;k.kdkjh jkT; dh ifjHkk"kk dhft,A Hkkjr dks ,d dY;k.kdkjh jkT; dguk dgk¡ rd mfpr

gksxk \

13. Discuss the relationship between Rights and Duties. 4

vf/kdkjksa o dÙkZO;ksa esa ijLij lEcU/k dh ppkZ dhft,A

14. “The notion of Humanism is common to both Gandhism and Marxism.” Comment. 4

^^xka/khokn o ekDlZokn nksuksa esa ekuorkokn dh Hkkouk leku :i ls ikbZ tkrh gSA** fVIi.kh

dhft,A
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15. Write a brief note on the role of National Commission for the Scheduled Castes and
Scheduled Tribes in India. 4

Hkkjr esa vuqlwfpr tkfr;ksa o vuqlwfpr tutkfr;ksa ds fy, jk"Vªh; vk;ksx dh Hkwfedk ij ,d laf{kIr

fVIi.kh fyf[k,A

16. What do you understand by women’s empowerment ? Can education help it ? 4

fL=k;ksa ds l'kfädj.k ls vki D;k le>rs gSa \ D;k f'k{kk blesa lgk;d fl) gks ldrh gS \

17. Are socio-economic factors the cause for communalism in India ? Discuss. 4

D;k lkekftd&vkfFkZd dkjd Hkkjr esa lkEiznkf;drk ds dkj.k gSa \ foospu dhft,A

18. What are the reasons for regional imbalances in India ? 4

Hkkjr esa {ks=kh; vlarqyu ds D;k dkj.k gSa \

19. Describe the composition and functions of the Election Commission of India. 4

Hkkjr ds pquko vk;ksx ds laxBu o dk;ks± dk o.kZu dhft,A

20. What do you mean by Panchsheel ? Does it still form the basis of India’s foreign policy ? 3+1

iap'khy ls vki D;k le>rs gSa \ D;k bls vHkh Hkh Hkkjrh; fons'k uhfr dk vk/kkj ekuk tk

ldrk gS \

21. Define Justice. Explain the three important dichotomies in the concept of justice. 2+6
OR

Is it possible to promote equality with the help of law ? Give arguments in support of
your answer. 8

U;k; dh ifjHkk"kk dhft,A U;k; dh vo/kkj.kk esa rhu egÙoiw.kZ vlaxfr;ksa dh O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

D;k dkuwu dh enn ls lekurk dks c<+kok fn;k tk ldrk gS \ rdZ lfgr mÙkj nhft,A

22. Define    Comparative    Politics.    Differentiate   between   the   traditional    and    modern
approaches to the study of Comparative Politics. 8

OR
Write short notes on (a) the institutional approach and (b) the behavioural approach to
the study of Comparative Politics. 4+4

rqyukRed jktuhfr dh ifjHkk"kk dhft,A rqyukRed jktuhfr ds v/;;u esa ijEijkxr rFkk vk/kqfud

mikxeksa esa vUrj dhft,A

vFkokvFkokvFkokvFkokvFkok

rqyukRed jktuhfr ds v/;;u esa ¼v½ laLFkkxr i)fr rFkk ¼c½ O;ogkjoknh i)fr ij laf{kIr

fVIif.k;k¡ fyf[k,A
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23. “Liberalism is individualism plus democracy.” Explain. 8

OR

What were the causes for the rise and fall of Fascism ?

^^mnkjokn ls rkRi;Z gS O;fäokn rFkk iztkra=kA** bl dFku dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

QkflLVokn ds mn; o iru ds D;k dkj.k Fks \

24. Mention the main characteristics of the party system in India. 8

OR

“Majority is not enough,  and unanimity is not required for the formulation of public
opinion.” Explain this statement. Do you agree with this view ? Why ?

Hkkjrh; nyh; iz.kkyh dh eq[; fo'ks"krkvksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

^^tuer ds fuekZ.k ds fy, cgqer i;kZIr ugha rFkk loZlEefr dh vko';drk ughaA** bl dFku dks

le>kb,A D;k vki bl fopkj ls lger gSa \ D;ksa \

25. Write a critical note on India’s changing relations with the USA. 8

OR

What    steps    would    you   suggest   to   improve   the   relationship   between   India
and Pakistan ?

la;qä jkT; vesfjdk ds lkFk Hkkjr ds cnyrs gq, lEcU/kksa ij ,d vkykspukRed fVIi.kh fyf[k,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr rFkk ikfdLrku ds vkilh lEcU/kksa dks lq/kkjus ds fy, vki D;k lq>ko nsaxs \


